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1. The speed of t’“?msverse waves on a spring is 15 m/s. If the source produces a dlsturbanvveq ‘

0.2 seconds, what is the wavelength of the wavei produced‘? .’ 5 h %

T L, = = 18
T2 9-5. —g S T 5 e
2. Ifawave genel ator producias 10 meter-long waves every i.:econas calculate the wave spe m
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ﬁeq.uency travel along the string? - Lm .F: S q;,{ol‘ )
J" A D 50 2.5m vv :{).

4 A trumpet is an open tube with a length of 150 cm. Calculate the l.o(v‘vest note (fundamentd
frequency) that it can play. Assume v =340 m/s. - "
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8. A rope, fixed at both ends, is vibrated by a machine at a fizedfigayency (similar to the class

demo). If the rope is placed under more tension wha happen to gvavelen 2‘\‘Nhy‘7l? V
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9.o Describe the difference between tr?sverse and longlthple 0 eai‘T
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10. A microwav 1 ber wi assmg through itfo heat up mt the
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